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- YFCHI+G,

Y& G S+T,

C = 10000+ 0.8(¥ - 7)),
1 =20000,
G =12000,
7 =16000.
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(1)Use the sixth-degree Taylor polynomial centered at zero for the function

1 08
f(x)= to approximate the integral I !
\[1 ‘R 4

' Jlex?

dx.

(2)For an equation of the tangent line to the graph of f at the given point.

F(s) = (s - 4)(s* —6),at (1,15)

1 ,
(3)Find the second derivative for the function f(x)= Z—-xg and solve the
Xt

equation f(x)=0.

d
@Find 2 if y=m@@+9"?).
dx
(5)Locate any relative extrema ahd inflection points of the functign Sy'= x" 111(1%).

(6)Find the supply function” X = f(p) that satisfies le = PN pT_ 25 and the
ag
initial condition x =600 "when p=5§13.

(7)Find the indefinite integral J. T ——

(8)Equations are given whose graphs enclose a region. Find the area of the region.
fx)=x°; gx)= 19x* —88x.

(9)Evaluate the integral I:—~1 —dx .
-4

N

(10)Find the general solution of the following differential equation
dyldt =ky(1-y)2-y).
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